i - ZxpE | 323D MH7300Z5

Ak

Dbl S5TIWEHETIXSE
1t 1
=
o RIEIRE
- BERELEOREHED
+ CERBR7KEGIIE
$tt BiF
- TETSENERAEEIRIT » PEMUBARIER D
 KEREFAMAY3T16LAE MR - SNSLE S
» RRFZEHTEE, HRTEMiHE - SMENSE
« TRABIEERE, 1BEudEee - FBIDEBIR
o SORBE +1% e E
- RiRESIETIER o XENZE
o BEIRME
« -40°C..+125°CT{ERE
o 0°C..+70°C ¥ MZEE
EET IS
ESEE(psi)  EHTBE(Bar) xE EHE “#alE
0...50 0...3.5 .
0...100 0...7
0...150 0...10
0...250 0...16
0...500 0...35
0...1000 0...70
0...1500 0...100
0...2250 0...150
0...3000 0...200
0...5000 0...350
0...7500 0...500
0...10000 0...700
0...15000 0...1000
0...22000 0...1500
0...30000 0...2000

& HehEEREdEs. EfREEE S, 35T,

@S
@S
@S
@S
@S
@S

@S
@S
@S

Force | Pressure | Temperature | LVDT | Switch



MH7300&%!
. SZ3D \
Etﬁ ﬁ# | Sensa Technology /%:L/_z\,Ij_liJ:TEjj Q]\i%

TERERIE

NERE 25°CRIFEBIER).

Eo | =) BARIE =X Efu &iE

BE (BRI, 1RE, EfE) -0.3 +0.25 0.3 %F.S.BFSL @ 25°C
FRIRE -0.5 +0.5 0.5 %F.S.BFSL @ 25°C
HEFIRE -0.5 +0.5 0.5 %F.S.BFSL @ 25°C
BBE (FSEAENTI) 100 MQ @ 250VDC
ELERED 1X107 0~FS Cycles

TEES 2X 20k psi Rated

TR ES 3X 20K psi Rated

KHRRRE M (HF) -0.25 0.25 %F.S

FERE -05 +0.5 0.5 %F.S IMEERESEER
MERESTE -20 85 °C

TERESCE -40 125 °C E#AERIN, BRE5105°C
EFRECE -40 125 °C EB#ARIN, BRE5105°C
thEk (RL) RL > 100k Q FH R

?# (RL) < (tEBERJE -9V) / 0.02A Q BT

TR TS 10 mA FEBEHH

M RZATIE) (10%ZE90%) <2ms (FBEEHIE) ; <3ms (EBALH); FToER

fE L SST316L

pk 50g, 11msec Half Sine Shock per MIL-STD-202G, Method 213B, Condition A

B +20g, MIL-STD-810C, Procedure 514.2-2, Curve L

BT WTEEXESR, &I .
/NFO0..70BarEfRIR R, EFERRESELILIEERS.

=/iE:

HMERE: FREENEESEORELEEERE, FHMAHEENMRSEEN.,

TIERE: FREENEHSEARELIEETEE, B FRENEMRSEEN.

BERE: FREEENSRERANER T URSEEHAIFUERANRETE. BHIEE ERE R Re X RISk A MR,
FrEEc B4R A HRIRE ER M RS,

CEFH

Force | Pressure | Temperature | LVDT | Switch



B - FiE | 323D

R~ [mm]

COMMECTOR

SENSOR PRESSURE PORT

omec”

MH7300Z7%]
SR TIEAZFIERR

CABLE
\
\
M12 CONNECTOR
\
i
\

}
%

WS ERERRE RIC (&X)
1 EB4RE Tm 1.97 [50.0]
4 M12 1.85[47.9]
6 FORM C 1.97 [50.0]
7 Bindex 6P 2.01[51.0]
. EEOXE
= B0 R$A | RdB
1 G1/4 JIS B2351 0.472[12.00] 0.3[8.0]
2 M20 x 1.5 mm ISO 6149-2 | 0.661[16.8] 0.3[8.0]
3 1/4-18 NPT 0.600 [15.24] 0.3[8.0]
7/16-20UNF FEMALE SAE J513
4 STRAIGHT THREAD WITH 0.687[17.5] 0.3[8.0]
INTEGRAL VALVE DEPRESSOR
5 M14 x 1.5 mm ISO 6149-2 | 0.433[11.0] 0.3[8.0]
6 1/8-27 NPT 0.390 [9.91] 0.3[8.0]
7 M12 x 1.5 mm ISO 6149-2 | 0.433[11.0] 0.3[8.0]
8 M10 x 1.0 mm ISO 6149-2 | 0.374[9.5] 0.3[8.0]
o | amsszromie Toszsan| oswa
B7kER
BHiRER
WS %R FR
1 FRSRE IP67
4 M12 IP67
6 FORM C IP65/IP67
7 Bindex 6P P67
&t mESIUENTIXRIKERIP6S,
e
= itk ]
0.5-4.5V 5+0.25V
1 Eeplia 16Vid BRI
2 1-5V 8 -36V
3 4 -20mA 9-36V
4 0-5V 8 -36V
5 0-10V 13- 36V
6 1-6V 8 -36V
7 0.5-4.5V 7.5- 36V

Force | Pressure | Temperature | LVDT | Switch




B - FjFiE | 323D

MH7300Z7%]
SR TIEAZFIERR

HEENX
HiftiniEg
e iR+ i+ = BESH
M12 1 2 3,4
ESFITEEE
FORM C 1 2 3,4
Bindex 6P A B C,D,E,F s
(M.
FRLE q = =
HEmiEgS
e e+ i+ it N = BSH
M12 1 3 2 4
ESF TS
FORM C 1 3 2 4
Bindex 6P A B C D,E,F o
(M.
o o = B (&) E
RS
EEIEEERR
e iR G aiEERs ST
BINDER SERIES 713, \
M12 09 3431 77 04 OR EQUIV 4-POS FEMALE &8 -
INDUSTRIAL STANDARD
FORM C s ot ot OMAL AHB6733 3+PE ;
Bindex PTIH-10-6P OR EQUIV PTOGA-10-6S MIL-C-26482 -
e 4-WIRE,22 AWG,
FRANEL EFR#RE, PVC,105°C ) )

X &E NEERFENENTERFTEASEENMTASHTES, FT2EY
HESILEIRERRIKEFRIPES,

TR AR N ERRESE

B, Bhs LRESFLRTTA.

* -
TBER
MH73 3 - 1 0 1 9 - 500P G
BS i o] - | EDEROBH 1] & EHEO - EHEE EHER
MH73| 1=0.5-4.5V | 1= Fa4i% 4=SST316L | 0= TElAfE 0= FHR&5(OEM) [ 1= G1/4 JIS B2351 0...500psi G= £
Lol 4= M12 %ﬁi* 1= 5IER 1= FFRhE §; '1‘/501; 1NSPT B= Bar S= BEE
2=1-5v 6=FORMC X= e 2= Bt 4= 7116-20UNF FEMALE M= Mpa c= 58
3= 4-20mA 7= Bindex 6P AR P= pS|
4=0-5V X= BZFEH 5=M14x1.5 K= Kpa
5= 0-10V 6= 1/8-27 NPT
6= 1-6Y 7=M12x15
7= 05-4.5V 8= M10x 1.0
N 9= G1/4 DIN 3852
X= B A= G3/8 JIS B2351
X=ZFEH

BiE: FrREa R MERRER, FEAI .

Force | Pressure | Temperature | LVDT | Switch




